FRACTIONS, DECIMALS, & PERCENTS

** NOTE:  The PERCENT (%) problems are in BLACK.  The DECIMAL (.01) are problems are in BLUE and the FRACTION (½) problems are in PINK. 

1. Mr. Jones has 36 students in his classroom.  75% of his students went on a 

field trip to the beach.  How many students from Mr. Jones class went to the 

beach?


A. 75

B. 9

C. 27

D. 45

E. NH

2.
Place in order from least to greatest:  1/2, 1/4, 3/5, 1/3, 3/4, 1/8

A. 1/2, 1/3, 1/4, 3/5, 1/8, 3/4

B. 1/8, 1/3, 1/4, 1/2, 3/5, 3/4

C. 1/3, 1/8, 1/2, 1/4, 3/5, 3/4
   
D. 1/8, 1/4, 1/3, 1/2, 3/5, 3/4

            E. NH

3.
One compact disc (CD) storage holder has enough to hold 10 discs.   Only 

6/10 of the CD storage holder is being used.   What percent of the CD holder 

is not being used?

A. 60%
B. 50%
C. 40%
D. 10%
E. NH

4.
In a class of 32 students, eight students went to the library.  What percent 

of the students went to the library?

A.  8%

B. 20%
C. 25%
D. 75%
E.  NH

5.
Ms. Morris has 32 students in her math class.  25% of her students went on a field trip to the Seaquarium and one-half of the students went to the Monkey Jungle.  How many students were left in Ms. Morris’ math class?

A.  24

B. 16

C. 4

D. 8

E. NH

[image: image1.wmf]6.
In 1980 about 40,000 refugees entered the United States.  It was estimated that 60% of these refugees settled in the State of Florida.  About how many refugees settled in Florida in 1980?    

7.
Bob received a score of 87%.  If there were 100 questions on the test, how

many questions did Bob get incorrectly?

8. There were 200 bumper cars in the Speedway show, 60% of the cars were driven by males.  How many bumper cars were driven my females that were in the Speedway show?
9. Look at the circle diagram below.  Approximately what percent of the students enjoy eating in the cafeteria?
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             Eating in the                                                              

[image: image5.wmf][image: image6.wmf]                          cafeteria                                                                        

         Eating out


                           Bring lunch

10.
Betty’s father received $400 dollars in the mail.  He gave 20% to Betty.  How

much money did Betty receive?

A. $20.00
B. $80.00
C. $60.00
D. $420.00
E. NH

11.
Johnny has $300 dollars.  He wants to give 10% to his little brother.

How much money will his little brother get?

12.
Place in order from least to greatest:  30%, 1/2,  3/5, 1/3, 65%, .75

A. 1/2, 1/3, 30%, 65%, 3/5, .75

B. 1/2, 30%, 1/3, 3/5, 65%, .75

C. 1/3, 1/2, 30%, 3/5, 65%, .75

D. 1/2, 30%, 1/3, 65%, 3/5, .75

E. NH

13.
There are 2,500 students at Smart Summer Camp 2001.  The computer 

roster indicated that 1500 of those students registered are girls, how many 

students are boys? 

                        [image: image7.wmf]
14. 
In problem number 13 above, what percent of the students are girls?

15.
Two-thirds of the students in Ms. Paul’s class enjoy eating pizza.  What 

             percent is represented by two-thirds?

A. 23%
B. 60%
C. 66 2/3 %
D. 80%
E.  NH

16.
In 1990, the student population at Greensboro Elementary was 650.  Nine   


years later, the student population decreased by 10%.  Based on the

            information given, how many  students were at the school in 1999? 


A.  585

B.  600

C.  65

D.  715

E.  NH

17.
Jasmine visited a pet store.  She saw 100 puppies.  Forty are white, 1/4 are 

brown and 35 are black.  Express the number of brown dogs as a percent.




   
   (((

A.   100%
B.  35%
C. 25%
D. 60%
E.  NH

18.
Central Junior High School had their annual marathon race.  The race covers 725 kilometers on one field and 875 kilometers on another field.   If 

one student from Central Junior High completed 400 kilometers, what is the percentage of the total race he completed?

A.  20%
B.  25%
C.  50%
D.  75%
E.  NH

19. Which is another way to write 2/5?

A. 75

B. 9

C. 27

D. 45

E. NH

20.
Jones Academy was having a PTA meeting.  80% of the audience was 

parents.  Which of these fractions represents that amount?

A. 10

B.  3

C.  3

D.  4

E.  8
      8                      4                      5                      5                     12

21.
In a class of 36 students, nine students went to the zoo.  What percent 

of the students did not go to the zoo?

A.  9%

B.  27%
C.  25%
D. 75%


22.       Four students from Glendale Elementary school are holding cards with a 

digit on it.  After placing the 8 in the ones place, what is the greatest possible 

decimal number that can be made using the digits 2,7,8 and 4?

A.  27.84
B. 74.28
C.  87.42
D.  78.42
E.  NH

23.       Which decimal number has a 6 in the tenths place?


A. 26.36
B. 19.64
C. 62.26
D. 67.19
E.  NH

24.

The table below shows equivalent forms of fractions, decimals, and percents.


Select  the chosen numbers that complete the table.





















A.  3/4, 6%, 1.2
B.  2/5, .60%, .12
C.  2/5, 6%, .12


D.  3/10, 60%, .12

25.
Which decimal number below has the second largest value?
Use the table below to answer problem 25.









A. 1.80 km.
B. 1.086 km.
C. 1.108 km.
D. 1.083 km.
E. 0.96 km.

26.
Which is an equivalent fraction to this fraction? 



A.



B.  


          C.

27.
What is the value of the least amount of money in U.S. Dollars?











A. 8/100 cents 
B. 1.30 cents

C. 17/100 cents
D. 1.50 cents

28.
There are four digits listed with a decimal point in the middle.  What           


is the largest number you can make without moving the decimal from   


the middle?  






29.

The table below shows equivalent forms of fractions, decimals, and percents.


Select  the chosen numbers that complete the table.





















A. 3/10, .8, 75%

B. 3/10, .08, 34%

C. 3/10, .08, 75%


D. 3/10, .80, 75%

30.
Which bar graph below shows the same information?







A.  


B.  


C.  



D.  



E. NH

31.
Tessa has material for a wedding.   She has 6½ yards of blue material, 7¼ yards of white material and 4¾ yards of gray material.   How much material does she have altogether?

 

 A.  16 ½
B.  17 ¼
C.  17 ½ 
D.  18 ½ 
E.  NH

32.     What is the product, in lowest terms?  4/5 X 1/2 =

 A. 4/10
B. 2/5
        C. 5/7
  D. 6/10
E. NH

33.      The ceramic tile covered 3/4 of the bedroom floor.  The other

1/4 is covered with carpet.  Write a decimal to show that 3/4

of the ceramic tile covered the bedroom. 

34.     A recipe for a lemon cake calls for 3/4 cup of sugar.  If the same recipe is  

          used, how much sugar will it take for five lemon cakes?

A. 5 cups
B. 3/4 cups
C. 3 3/4 cups
D. 4 3/4 cups
E. NH


35.   Which number is represented by:  3 ½ + 2 ¾ + 4 ¼ + 6 ½ 

A. 16¾ 
B. 17

C. 17¼

D. 17½

E. NH

36.
Which of these represents the greatest value?  

40%, 1/2, 2/3, .60, 3/4


A.  40%
B.  1/2       
C. 2/3 

D.  .60

E.  3/4

37.       Place the following fractions in order from least to greatest.

 1/2, 1/4, 1/3, 3/5, 3/4, 3/8  

38.
What fraction of the figure is shaded?




A. 3/4

B. 4/3

C. 4/7

D. 3/7

E. NH


39.  
Ms. Jones at Havana Elementary decided to see who could tell time.  The     

       
numbers on the clock in Ms. Jones’ room face divide one hour into twelfths.

       
If 1/12 of an hour represents 5 minutes.  How many minutes does 9/12 of an   

      
hour represent?
40.
Ms. Davis baked a peach cobbler and cut it into 8 equal slices.  She gave 1/2 


of the pie to Cheryl and 2/8 of the pie to Alice.  What part of the pie was left?

41.
What percent of the students enjoy football?

                                                     













A. 39%
B. 55%
C. 60% 
D. 61%
E.  NH

42.
Which numeral has the greatest value?   3/4, 68%, 0.738, 2/3


A. 3/4

B. 68%
C. 0.738
D. 2/3

43.
Add the following:   7½  +  5¼  +  3½ 

A. 15¼
B. 16¼
C . 16½ 

D. 16¾ 
44.
Color the stars inside the box as shown outside the box below:  Then show 

that 1/2 of them are green 1/3 of them are purple and the rest of them are

 gold.












Which fraction of the stars in the box are gold?

A.  1/3

B. 1/2

C.  1/4

D. 1/6

45.
Which portion of the figure is not shaded?

A. 20%
B. 80%
C.40

D.60

E.  NH

 
	

	

	

	

	

	

	

	

	

	


 
FRACTIONS, DECIMALS & PERCENTS ANSWER SHEET

1.
Mr. Jones has 36 students in his classroom.  75% of his students went on a 

fieldtrip to the beach.  How many students from Mr. Jones class went to the 

beach?


A.  75

B.  9

C.  27

D.  45

E.  NH

2.        Place in order from least to greatest:  1/2, 1/4, 3/5, 1/3, 3/4, 1/8

A.  1/2, 1/3, 1/4, 3/5, 1/8, 3/4

B.  1/8, 1/3, 1/4, 1/2, 3/5, 3/4

C.  1/3, 1/8, 1/2, 1/4, 3/5, 3/4  
D.  1/8, 1/4, 1/3, 1/2, 3/5, 3/4
E.  NH


3.     
One compact disc(CD) storage holder has enough to hold 10 discs.   Only 

6/10 of the CD storage holder is being used.   What percent of the CD holder 

is not being used?


A.  60%
B.  50%
C.  40%
D.  10%

4.
In a class of 32 students, eight students went to the library.  What percent 

of the students went to the library?

A.  8%

         B.  20%

      C.  25%
            D.  75%

    8   =  1                                1   = 25%

          

  32       4

           4

5.
Ms. Morris has 32 students in her math class.  25% of her students went on a field trip to the Seaquarium and one-half of the students went to the Monkey Jungle.  How many students were left in Ms. Morris’ math class?

A.  24

B. 16

C. 4

D. 8

E. NH


SOLUTION:  Step 1:  25% of 32 = 8  (32 x .25 = 8)

                                                Step 2:  ½ of 32 = 16     ( 32 divided by 2 = 16)





Step 3:  Add 16 + 8 = 24  





Step 4:  Subtract 24 from 32 = 8




Therefore, the answer is 8.

6.
In 1980 about 40,000 refugees entered the United States.  It was estimated  

that 60% of these refugees settled in the State of Florida.  About how many 

refugees settled outside of Florida in 1980?    

Step 1    60% of 40,000 = 24,000


Step 2    40,000 – 24,000 =  16,000        
Answer  = 16,000


7.      
Bob received a score of 87%.  If there were 100 questions on the test, how

many questions did Bob get incorrectly?     87 = 87%








100

 100    Questions

– 87    Correct answer

                  Answer                                                       13

  8.   
There were 200 bumper cars in the Speedway show.  60% of the cars were 

           
driven by males.  How many bumper cars were driven my females that were 

           
in the show?  

                                 Step 1:    60% 0f 200 = 120     Step 2:   200 – 120 = 80 


Therefore, 80 bumper cars were driven by females

9.
Look at the circle diagram below.  Approximately what percent of the 

   
students enjoy eating in the cafeteria?




                                         

             Eating in the                                                              

                          cafeteria                                                        











  Eating out
                           Bring lunch

         Percent = 100          Eating out represents 50%

                                            Bringing lunch represents 15% 

                                            Therefore, eating in the cafeteria represents 35%
Answer:  35%

10. 
 Betty’s father received $400 dollars in the mail.  He gave 20% to Betty.  How

 much money did Betty receive?

A.  $20.00

B.  $80.00

C.  $60.00

D.  $420.00

                              First change 20% to a decimal by move the decimal point two

      Places to the left.       20%    =    .20. Now multiply the .20 x 400

     

  400

                


x .20

                 


80.00  or 80

11.
Johnny has $300 dollars.  He wants to give 10% to his little brother.

How much money will his little brother get?




Step 1   300 x .10 = $30

12.        Place in order from least to greatest:  30%, 1/2,  3/5, 1/3, 65%, .75



Change all problems to a decimals first:  .30, .50, .60, .33, .65, .75

A.  1/2, 1/3, 30%, 65%, 3/5, .75

B.  1/2, 30%, 1/3, 3/5, 65%, .75

C.  1/3, 1/2, 30%, 3/5, 65%, .75

D.  1/2, 30%, 1/3, 65%, 3/5, .75

E.  NH

   Answer should be   30%, 1/3, 1/2, 3/5, 65%, .75

13.
There are 2,500 students at Smart Summer Camp 2001.  The computer 

roster indicated that 1500 of those students registered are girls, how many 

students are boys? 


Step 1   2500 – 1500 = 1000    Therefore, if 1500 hundred of the students are 

 




  girls, then only 1000 of them are boys.

14.
In problem number 4 above, what percent of the students are girls?



Step 1    1500 = 3  or 60%

   
   2500    5

15.
Two-thirds of the students in Ms. Paul’s class enjoy eating pizza.  What 

             percent is represented by two-thirds?     



Step 1     2.00  ( 3 = .6667   

Step  2  Now move decimal two places to the right 66.67 = 662/3 %       


A.  23%

B.  60%
C.   66 2/3 %

D.  80%
16.
In 1990, the student population at Greensboro Elementary was 650.  Nine   


years later, the student population decreased by 10%.  Based on the

            information given, how many  students were at the school in 1999? 



Step  1  10% of 650 = 65     



Step  2   650 – 65 =  585



A.  585


B.  600

C.  65


D.  715
17.
Jasmine visited a pet store.  She saw 100 puppies.  Forty are white, 1/4 are  

brown and 35 are black.  Express the number of brown dogs as a percent.




(((
A.  100%
B.  35%
C.  25%
  D.  60%






25   =  25%





           100

18.
Central Junior High School had their annual marathon race.  The race covers 725 kilometers on one field and 875 kilometers on another field.   If 

one student from Central Junior High completed 400 kilometers, what is the percentage of the total race he completed?

A.  20%
B.  25%
C.  50%
D.  75%
E.  NH

19.
Which is another way to write 2/5?  


Step 1:  Change 2/5 to a percent = 40%


 Therefore, the answer should be E., not here.

A. 75

B. 9

C. 27

D. 45

E. NH
20.
Jones Academy was having a PTA meeting.  80% of the audience was 

parents.  Which of these fractions represents that amount?

A. 10

B.  3

C.  3

D.  4

E.  8

      8                      4                      5                      5                     12

21.       In a class of 36 students, nine students went to the zoo.  What percent 

of the students did not go to the zoo?

Step 1:   9/ 36 = 25%


Step 2:   100%  –  25% = 75%

A.  9%

         B.  27%

      C.  25%
            D.  75%
22.
Four students from Glendale Elementary school are holding cards with a 

digit on it.  After placing the 8 in the ones place, what is the greatest possible 

decimal number that can be made using the digits 2,7,8 and 4?

A.  27.84
B. 74.28
C.  87.42
D.  78.42
23.
Which decimal number has a 6 in the tenths place?


A.  26.36

B.  19.64

C.  62.26

D.  67.19

24.

The table below shows equivalent forms of fractions, decimals, and percents.


Select  the chosen numbers that complete the table.





















A. 3/4, 6%, 1.2

B. 2/5, .60%, .12

C. 2/5, 6%, .12

D. 3/10, 60%, .12

25.      Which decimal number below has the second largest value?

Use the table below to answer problem 10.  














1st




A.  1.80 km

B.  1.086km

C.  1.108 km

D.  1.083 km

E.  0.96

26.
Which is an equivalent fraction to this fraction? 






2/6 = 1/3


A.



B.  


          C.





2/8 = 1/4


1/4       

4/12 = 1/3


Therefore, 2/6 and 4/12 are equivalent to 1/3.   Answer C
27.
What is the valve of the least amount of money in U.S. Dollars?

































A.  8/100 cents
B.  1.30 cents

C.  17/100 cents
D.  1.50 cents

28.
There are four digits listed with a decimal point in the middle.  What           


 is the largest number you can make without moving the decimal from   


 the middle?



 
94.30
29.
The table below shows equivalent forms of fractions, decimals, and percents.


Select  the chosen numbers that complete the table.























A.  3/10, .8, 75%
B.  3/10, .08, 34%
C.  3/10, .08, 75%


D.  3/10, .80, 75%
30.
Which bar graph below shows the same information?



A.  


B.  


C.  



D 



31.
Tessa has material for a wedding.   She has 6½ yards of blue material, 7¼ yards of white material and 4¾ yards of gray material.   How much material does she have altogether?

 

 
A.  16 ½
B.  17 ¼
C.  17 ½ 
D.  18 ½ 
E.  NH

32.     What is the product, in lowest terms?  4/5 X 1/2 =

 A. 4/10
B. 2/5
        C. 5/7
  D. 6/10
E. NH

33.
The ceramic tile covered 3/4 of the bedroom floor.  The other 1/4 is covered with carpet.  Write a decimal to show that ¾ of the ceramic tile covered the bedroom. 


SOLUTION:

             Add to zeros to the numerator (3) and then divide the 

             numerator by the denominator (4).     3.00

    0.75                                                                  4

4  3.00               Answer:  0.75

34.
A recipe for a lemon cake calls for 3/4 cup of sugar.  If the same recipe is  

            used, how much sugar will it take for five lemon cakes?

A.  5 cups
B.  3/4 cup
  
C.  3 3/4 cups

D.  4 3/4 cups

               3/4 X 5 = 3 3/4

35.     Which number is represented by:  3 ½ + 2 ¾ + 4 ¼ + 6 ½ 



SOLUTION:




Step 1:   Add whole numbers first  3 + 2 +4 + 6      =    15

Step 2:  Add like fractions second ½ + ½  = 1




Step 3:  Add like fractions third ¾ + ¼  =    1
 Answer  =  17

A.  16¾ 
B.  17

C.  17¼  

D.  17½ 

36. Which of these represents the greatest value?  40%, 1/2, 2/3, .60, 3/4

A.  40%

B. 1/2 
    
C.  2/3

D.  .60

E. 3/4
SOLUTION:

  40%, 1/2, 2/3, .60, 3/4,   
Step 1   Change each one to a percent and   

  40%, 50%, 66%, 60%, 75%            compare.


Therefore, 3/4 or 75% is the answer.

37.  
Place the following fractions in order from least to greatest.

            1/2,  1/4,  1/3, 3/5, 3/4, 3/8



SOLUTION:
   


Step 1:  Change each fraction to a decimal and then compare 

                                                  the decimals.  For example:  1/2 changed to a decimal 

                                                  is 0.5 or 0.50.

                                    Step 2:  Add two zeros to the numerator (1) 

Step 3:  Then, divide it by the denominator (2)

   0.50           0.25          0.33         0.60

                                                           2 1.00         4 1.00       3 1.00       5 3.00
       Therefore, 1/4, 1/3, 3/8, 1/2, 3/5, 3/4  is in the proper order from least 

       to greatest.

Answer:  1/4, 1/3, 3/8, 1/2, 3/5, 3/4 

38.
 What fraction of the figure is shaded?



 
  Count all shaded squares =      4                     

 
  Count all squares          =          7


A.  3/4

B.  4/3

C.  4/7

D.  3/7

E.  NH


39.      Ms. Jones at Havana Elementary decided to see who could tell time.  The   

            numbers on the clock in Ms. Jones’ room face divide one hour into twelfths.

If 1/12 of an hour represents 5 minutes.  How many minutes does 9/12 of an hour represent? 










Step 1 =    60 minutes  (12 numbers on a clock = 5 minutes

                                               per 1/12 of a hour



 Step 2 =    9 X  5 = 45 minutes


Therefore, 9/12 or 3/4 of an hour equals 45 minutes
40.
Ms. Davis baked a peach cobbler and cut it into 8 equal slices.  She gave 1/2 


of the pie to Cheryl and 2/8 of the pie to Alice.  What part of the pie was left? 


Step 1:   1/2 of 8 = 4
  Step 2:  2/8 of 8 = 2        Step 3:  4 + 2 = 6 and 8 – 6 = 2


Therefore, 2/8 = 1/4        Answer 1/4
41.
What percent of the students enjoy football?






                          

 



Step  1:   23 + 16 = 39



Step  2:  100 – 39 = 61



Therefore, 61% is the total percent

  
of the students who enjoy football.

A.  39%

B.  55%

C.   60% 

D.  61%

42.
Which numeral has the greatest value?   3/4, 68%, 0.738, 2/3


A.  3/4

B.  68%
C.  0.738
D.  2/3


     75%                 68%                  74%              66%

43.
Add the following :   7½  +  5¼  +  3½ 


Step  1:    Add the numbers with the ½ ‘s first:   7½  + 3½  = 11


Step  2:    Then add 11 to 5¼ 
            11 + 5¼  =    16¼ 



A.  15¼

B.  16¼

C.  16½ 

D. 16¾

44.
Color the stars inside the box as shown outside the box below:  Then show 

that 1/2 of them are green 1/3 of them are purple and the rest of them are

gold.









Which fraction of stars in the box are gold?

Step 1:      Count and color all stars in the box  = 18

Step 2:     1/2 of 18 = 9

Step 3:      1/3 of 18 = 6

Step 4:      Add 9 + 6 = 15

Step 5:      18 – 15 = 3

Step 6:     3/18  = 1/6

A.  1/3

B.  1/2

C.  1/4 
D.  1/6

45.
Which portion of the figure is not shaded?

A. 20%
B.  80%
C.  .40

D.   .60

 
	

	

	

	

	

	

	

	

	

	


Step 1: Count all rectangles = 10
     Step 2:  Count rectangles that are 

   






       not shaded = 2     2/10 = 20%
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